
atdec.com

Technical Summary
ADB-WP

Wall Plate

No portion of this document or any artwork contained herein should be reproduced in any way without the express written consent of Atdec Pty Ltd.  
Due to continuing product development, the manufacturer reserves the right to alter specifications without notice. ©20180816A

ADB-WP Page 1 of 1

G

E F

E

F
D B

C

A

INSTALLATION INSTRUCTION

COMPONENT CHECKLIST

Item Name QTY

A Wall Plate 1

B M8 x 12mm Screw 4

C M8 Washer 4

D M8 Nut 4

E M8 Washer 2

F Coach Screw 2

G Plastic Anchor 2

H 5mm Allen Key 1

PRODUCT DIMENSIONS

B

A

C D E F G H

150mm (5.91”)
18.5mm
(0.73”)

35mm (1.38”)

185mm

59mm

125mm (4.92”)

(2.32”)

(7.28”)
72mm
(2.83”)

8.5mm
(0.33”)

1. Insert sliding nuts 2. Attach plate to rail 3. Fix to wall
a. Brick or concrete

b. Wood


